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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

State objects of winding.

Define rewound weft.

State the function of slub catcher.

State different types of wind.

State different package faults in pirn winding.
State different primary motion loom.

State the function of secondary motion in loom.
State the function of lease rod.

Define eccentricity ratio.

What is early shedding?

Boow~wouorwnr

—~
QD
L=

Explain different types of tensioner.
OR
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Explain electronic slub catcher.

(b) Explain any two defects in winding with their causes and remedies
OR

(b) Explain splicing in winding.

(@) Explain advantage of rewound weft over direct weft.
OR
(@) Explain automatic pirn winding machine with neat sketch.
(b) Explain negative tappet shedding motion with neat sketch.
OR
(b) Explain over pick motion with neat sketch.

(@) Explain seven wheel take up motion with neat sketch.
OR
(@) Explain negative let-off motion with neat sketch.
(b) Explain loose reed warp protector motion with neat sketch.

(@) Calculate production of loom in yards and meter from the following data.
Speed =200 rpm, efficiency = 80%, picks per inch = 66, time = 8 hrs. ,

(b) Calculate production of winding machine par day in pound and kg. per day
from the following data.

Speed = 1500 ypm, efficiency = 75%, no. of spindle = 60, count = 60 Ne.
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